Math:  

----------------------------------------------------------------------------------------------------------------------

Q1:

If Henry were to add 5 gallons of water to a tank that is already 3/4 full of water, the tank would be 7/8 full.  How many gallons of water would the tank hold if it were full?

A. 25

B. 40

C. 64

D. 80

E. 96

Answer: B

----------------------------------------------------------------------------------------------------------------------

Q2:

For which of the following functions f is f(x) = f(1-x) for all x?

A.
f(x) = 1 - x

B.
f(x) = 1 - x2

C.
f(x) = x2 - (1-x)2

D.
f(x) = x2(1-x)2

E.
f(x) = x / (1-x)

Answer: D

----------------------------------------------------------------------------------------------------------------------

Q3:

Which of the following is equal to 1/6 * (42)6?

A.
66

B.
67
C.
6273

D.
6576

E.
6776

Answer: D

----------------------------------------------------------------------------------------------------------------------

Q4:

On a given day, 50 people took a test that is designed to measure a candidate’s aptitude.  Some of the 50 people will take the test in the morning, and the remaining of the 50 people will take the test in the afternoon.  What is the average (arithmetic mean) score on the test for the 50 examinees? 

(1)
The average score for the examinees who take the test in the morning was 68.2.

(2) 
The average score for the examinees who take the test in the afternoon was 74.3.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.















Answer: E

----------------------------------------------------------------------------------------------------------------------

Q5:

If r = (x+y)/2 and s = (x-y)/2, what is the value of r + s? 

(1)
y = 4

(2) 
x = 6

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.















Answer: B

----------------------------------------------------------------------------------------------------------------------

Q6:

An analyst will recommend a combination of 3 industrial stocks, 2 transportation stocks, and 2 utility stocks.  If the analyst can choose from 5 industrial stocks, 4 transportation stocks, and 3 utility stocks, how many different combinations of 7 stocks are possible?

A.
12
B.
19

C.
60
D.
180
E.
720
Answer: D

----------------------------------------------------------------------------------------------------------------------

Q7:


In the figure shown, two identical squares are inscribed in the rectangle.  If the perimeter of the rectangle is 18√2, then what is the perimeter of each square?

A.
8√2
B.
12

C.
12√2
D.
16
E.
18
Answer: B

----------------------------------------------------------------------------------------------------------------------

Q8:

If (x - 1( - (x - 2( = 0, then x =?

A.
0
B.
2/3

C.
1
D.
1/2
E.
3/2
Answer: E

----------------------------------------------------------------------------------------------------------------------

Q9:

A certain computer program generates a sequence of numbers a1, a2, … , a n such that a1 = a2 = 1 and ak = ak-1 + 2ak-2 for all integers k such that 3 ≤ k ≤ n.  If n > 6, then a7 = ?

A.
32
B.
43

C.
64
D.
100
E.
128
Answer: B

----------------------------------------------------------------------------------------------------------------------

Q10:

If $1,000 will be deposited in a bank account and I is the dollar amount of interest earned from the original deposit, represented as I = 1000 {(1 + r/100)n – 1}, and the annual interest rate is r percent, is r > 8 percent?

(1)
The deposit earns a total of $210 in interest in the first 2 years.

(2) (1 + r/100)2 > 1.15

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.















Answer: D

----------------------------------------------------------------------------------------------------------------------

Q11:

If (x( < 1?

(1)
(x + 1( = 2(x - 1(
(2) (x - 3( ≠ 0

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.















Answer: C

----------------------------------------------------------------------------------------------------------------------

Q12:

Each person who attended a company meeting was either a stockholder in the company, an employee of the company, or both.  If 62 percent of those who attended the meeting were stockholders and 47 percent were employees, what percent were stockholders, who were not employees?

A.
34%
B.
38%

C.
45%
D.
53%
E.
62%
Answer: D

----------------------------------------------------------------------------------------------------------------------

Q13:

{1/(4-√15)}2 =

A.
16 + 16√15
B.
31 - 8√15

C.
31 + 8√15
D.
32 - 4√15
E.
32 + 4√15
Answer: C

----------------------------------------------------------------------------------------------------------------------

Q14:

If n is positive, which of the following is equal to 1 / [√(n+1) -√n]?

A. 1  

B.
√(2n+1)

C.
√(n+1) / √n

D.
√(n+1) - √n
E.
√(n+1) + √n
Answer: E

----------------------------------------------------------------------------------------------------------------------

Q15:

	Age Category (in years)
	Number of Employees

	Less than 20
	29

	20 — 29
	58

	30 — 39
	36

	40 — 49
	21

	50 — 59
	10

	60 — 69
	5

	70 and over
	2


There are 161 employees at Company X.  The above table shows the age category of all the employees.  According to the table, if m is the median age, in years, of the employees at Company X, then m must satisfy which of the following?

A.
20 ≤ m ≤ 29  

B.
25 ≤ m ≤ 34

C.
30 ≤ m ≤ 39

D.
35 ≤ m ≤ 44
E.
40 ≤ m ≤ 49
Answer: A

----------------------------------------------------------------------------------------------------------------------

Q16:




M = {-6, -5, -4, -3, -2}




T = {-2, -1, 0, 1, 2, 3}

If an integer is to be randomly selected from set M above and an integer is to be randomly selected from set T above, what is the probability that the product of the two integers will be negative?

A.
0
B.
1/3

C.
2/5
D.
1/2
E.
3/5
Answer: D

----------------------------------------------------------------------------------------------------------------------

Q17:

A certain right circular cylinder has a radius of 5 inches.  There is a kind of liquid filled in this cylinder to the height of 9 inches.  If this liquid is poured completely into a second right cylinder, then the liquid will fill the second cylinder to the height of 4 inches.  What is the radius of the second cylinder, in inches?

A.
6
B.
6.5

C.
7
D.
7.5
E.
8
Answer: D

----------------------------------------------------------------------------------------------------------------------

Q18:

If q is a positive integer less than 17 and r is the remainder when 17 is divided by q, what is the value of r?

(1)
q > 10

(2) q = 2k, where k is a positive integer.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.















Answer: B

----------------------------------------------------------------------------------------------------------------------

Q19:

Is 12 a factor of the positive integer n?

(1)
n is a factor of 36.

(2) 3 is a factor of n.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.















Answer: E

----------------------------------------------------------------------------------------------------------------------

Q20:

A retailer bought a machine at a wholesale price of $90 and later on sold it after a 10% discount of the retail price.  If the retailer made a profit equivalent to 20% of the wholesale price, what is the retail price of the machine?

A.
81
B.
100

C.
120
D.
135
E.
160
Answer: C

----------------------------------------------------------------------------------------------------------------------

Q21:

On January 1, 1994, Jill invested P dollars in an account that pays interest at a rate of 8 percent per year, compounded annually on December 31.  If there were no other deposits or withdrawals in the account, how many dollars were in the account on January 1, 1998, in terms of P?

A.
0.32P
B.
4.32P

C.
(0.08)4P

D.
(1.08)4P
E.
(1.08)4P

Answer: D

----------------------------------------------------------------------------------------------------------------------

Q22:

A researcher plans to identify each participant in a certain medical experiment with a code consisting of either a single letter or a pair of distinct letters written in alphabetical order.  What is the least number of letters that can be used if there are 12 participants, and each participant is to receive a different code?

F. 4

G. 5

H. 6

I. 7

J. 8

Answer: 

------------------------------------------------------------------------------------------------------------

Q23:
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The figure above is a cube.  What is the measure of angle BEG (not shown)?

A. 30°

B. 45°

C. 60°

D. 75°

E. 90°

Answer: 

------------------------------------------------------------------------------------------------------------
Q24:

Max has $125 consisting of bills each worth either $5 or $20.  How many bills worth $5 does Max have?

(1)
  Max has fewer than 5 bills worth $5 each.

(2)
  Max has more than 5 bills worth $20 each.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q25:

At a sale all books were priced equally and all magazines were priced equally.  What was the price of 3 books and 4 magazines at the sale?

(1)
  At the sale the price of a book was $1.45 more than the price of a magazine.

(2)
  At the sale the price of 6 books and 8 magazines was $43.70.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q26:

How many different 6-letter sequences are there that consist of 1 A, 2 B’s, and 3 C’s ?

A. 6

B. 60

C. 120

D. 360

E. 720

Answer: 

------------------------------------------------------------------------------------------------------------

Q27:

A pharmaceutical company received $3 million in royalties on the first $20 million in sales of the generic equivalent of one of its products and then $9 million in royalties on the next $108 million in sales.  By approximately what percent did the ratio of royalties to sales decrease from the first $20 million in sales to the next $108 million in sales? 

A. 8%

B. 15%

C. 45%

D. 52%

E. 56%

Answer: 

------------------------------------------------------------------------------------------------------------

Q28:

If n is a positive integer, what is the remainder when (74n + 3)(6n) is divided by 10 ?

A. 1

B. 2

C. 4

D. 6

E. 8

Answer: 

------------------------------------------------------------------------------------------------------------

Q29:

Is the integer n odd?

(1)
  n is divisible by 3.

(2)
  2n is divisible by twice as many positive integers as n.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q30:
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According to the chart shown, which of the following is closest to the median annual number of shipments of manufactured homes in the United States for the years from 1990 to 2000, inclusive?

A. 250,000

B. 280,000

C. 310,000

D. 325,000

E. 340,000

Answer: 

------------------------------------------------------------------------------------------------------------

Q31:

A certain fruit stand sold apples for $0.70 each and bananas for $0.50 each.  If a customer purchased both apples and bananas from the stand for a total of $6.30, what total number of apples and bananas did the customer purchase?

A. 10

B. 11

C. 12

D. 13

E. 14

Answer: 

------------------------------------------------------------------------------------------------------------

Q32:

A certain list consists of 3 different numbers.  Does the median of the 3 numbers equal the average (arithmetic mean) of the 3 numbers?

(1)
The range of the 3 numbers is equal to twice the difference between the greatest number and the median.

(2)
  The sum of the 3 numbers is equal to 3 times one of the numbers.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q33:

Working simultaneously and independently at an identical constant rate, 4 machines of a certain type can produce a total of x units of product P in 6 days.  How many of these machines, working simultaneously and independently at this constant rate, can produce a total of 3x units of product P in 4 days?

A. 24

B. 18

C. 16

D. 12

E. 8

Answer: 

------------------------------------------------------------------------------------------------------------

Q34:

Of the 2,500 tons of ore mined daily at a quarry, 0.4 percent results in a certain pure metal.  In how many days of mining will the total amount of pure metal produced at the quarry be equal to the daily amount of ore mined?

A.      10

B.    100

C.    250

D.    400

E. 1,000

Answer: 

------------------------------------------------------------------------------------------------------------

Q35:

The weights of all dishes of type X are exactly the same, and the weights of all dishes of type Y are exactly the same.  Is the weight of 1 dish of type X less than the weight of 1 dish of type Y ?

(1)
The total weight of 3 dishes of type X and 2 dishes of type Y is less than the total weight of 2 dishes of type X and 4 dishes of type Y.

(2)
The total weight of 4 dishes of type X and 3 dishes of type Y is less than the total weight of 3 dishes of type X and 4 dishes of type Y.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q36:

If x, y, and z are positive integers, is xz even?

(1)
  xy is even.

(2)
  yz is even.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q37:

A club with a total membership of 30 has formed 3 committees, M, S, and R, which have 8, 12, and 5 members, respectively.  If no member of committee M is on either of the other 2 committees, what is the greatest possible number of members in the club who are on none of the committees?

A. 5

B. 7

C. 8

D. 10

E. 12

Answer: 

------------------------------------------------------------------------------------------------------------

----------------------------------------------------------------------------------------------------------------------

Answers:

BDDEB, DBEBD, CDCEA, DDBEC, DBCDB,BCEBC,BDBCB,ED
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